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STUDENT NUMBER:

MATH 1XX3 (CALCULUS FOR MATH AND STATS IT) MIDTERM 2
ApAM VAN TuyL, MCMASTER UNIVERSITY

DAy CLASsS
DURATION OF MIDTERM: 50 minutes
MIDTERM March 16, 2017

THIS MIDTERM PAPER INCLUDES 6 PAGES AND 10 QUESTIONS. YOU ARE RESPONSIBLE
FOR ENSURING THAT YOUR COPY OF THE PAPER IS COMPLETE. BRING ANY DISCREPANCY
TO THE ATTENTION OF YOUR INVIGILATOR.

SPECIAL INSTRUCTION
e Only the McMaster Standard Calculator (Casio fx 991) is allowed.
o All solutions should be written on the exam.
e The total number of points is 37. Do all of the 10 questions.

e Use the back of pages if you need more room.

Page | Possible | Received
2 8
3 8
4 7
5 7
6 i
Total 37
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1. [4pts] Test for convergence or divergence (use any test): E cos®(nm).
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2. [4 pts] Test for convergence or divergence (use any test): Z _\/ﬁ_-;le'?
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3. [4pts] Test for convergence or divergence (use any test): Z
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4. [4 pts) Test for convergence or divergence (use any test): Z 53_:)1 5
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5. [5 pts] If the nth partial sum of a series Z ap 18
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6. [2 pts] The following statement is FALSE:

(o o]
If a series Z a, is a convergent series, then it is absolutely convergent.

n=1

Explain why the statement is false, or give an example to show why the statement is

false.
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7. [5 pts] Show that the power series So §Y(y) =-cos¥

McMaster University Math 1XX3 Winter 2017

41 6!

n=0 ] N
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satisfies the differential equation f(z) + f(x) =
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8. [2 pts] The following statement is FALSE:

oo

The Ratio Test can be used to determine if the series Z 07T converges.
n=1

Explain why the statement is false, or give an example to show why the statement is
false.
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9. [5pts] Find the radius of convergence of the series
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Based upon your answer, make a prediction for the radius of convergence for the series
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10. [2 pts] The following statement is FALSE:

There is a powers series of the form Ecﬂ(a: — 2)" with an interval of con-
n=0

vergence [0,10).

Explain why the statement is false, or give an example to show why the statement is
false.
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THE END
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